;> restart
> Solucion = y(x)--2-(1 —y(x)) = (x — Cl) -2

Solucion =y (x)* (1 —y(x)) = (x— C1)2

| >
> SolucionDos = expand( isolate(Solucion, Cl))

SolucionDos := C| = —\/y()c)2 —y(x)3 +x

| >
> Ecuacion = diff (rhs(SolucionDos), x) =0
d 2( d
23(x) —y(x>) ~33(x) —y(x>)
Ecuacion = —% ( dx ( dx +1=0
V) =y(x)’

> FEcuacionDos = Simpliﬁ/( lhs (Ecuacion) \/ y(x)2 —y(x)3 ) =0
3 d
0 )+ 5 00 (gov |+ )

2

EcuacionDos == -y(x) ( d (-1+y(x)) =0

A y

> SolucionSingular = y(x) =1
SolucionSingular :=y(x) =1

> Comprobacion, := eval(subs(y(x) =rhs(SolucionSingular), EcuacionDos) )

Comprobacion, :=0 =0

| >
> M:=1
i M:=1
i M:=1
[ 2
S No= L 2y=3)y
2 2_ 3
y =y
2y—3y2

1
V=g T
y =y

> Comprobar = diff (M, y) —diff (N, x) =0

Comprobar :=0=0
> with(DEtools) :
> odeadvisor(Ecuacion)

[ quadrature]
> InmtM = int(M, x)
IntM = x

> SolucionGeneral = IntM + int( (N — diff (IntM, y) ), y) =C,

2
SolucionGeneral .= x + y 14y = C’1
2 3
y =y
> Solucion

Y (1 =p(x)) = (x =€)
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> vrestart

Soluci o G,
> Solucion := y(x) = ) + 3
¢, G,
Solucion :=y(x) = — T3
X
> Sistema = diff (Solucion, x), diff (Solucion, x$2) : Sistema,; Sistema,
d 2¢, 3G,
— ( ) = - —
dx X a
6C 12C
;‘L— W
X
> Parametro = Solve( {Sistema} { Parametrol, Parametro,
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1, [( ]m(%ym))

2
C,= (dxymj +§(§y(x>]x5

Ecuacionlnicial = Simplij_‘j/( subs( C,=rhs ( Parametro, ) , Cy=rhs ( Pammetroz) , Solucion) )

d2

Ecuacionlnicial .= y(x) = - % X ( (E y(x)] x+6 (% y(x) ) j

. lhs (Ecuacionlnicial) rhs (Ecuacionlnicial)
Ecuacion = expand 2 — 2
) )
d
2 6 (— y(x) )
Ecuacion = 6y(2x) + d2 y(x) + dx =
X dx X
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